Azimuths

An azimuth is the angle between the North line and a given direction represented by a direction arrow; it is measured in the clockwise direction.
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                                                                        The arrow shows direction, the 

                                                                        azimuth is taken from the endpoint 

                                                                        without the arrow.

Every line segment has two azimuths, depending upon the endpoint from which it is taken.

[image: image8.wmf]0

0

0

5

180

185

=

-

                                                                              

                                                                        Given an azimuth:

                                2250                                  i) If the angle is less than 1800, then add 

                                                                            1800 to obtain the other azimuth.

                                       1800 + 450 = 2250
                                                                         ii) If the angle is greater than 1800, then 

                                       2250 – 1800 = 450         subtract 1800 to obtain the other

                                                                             azimuth.
Example 1: For the following azimuths:                         

· sketch the azimuth showing the North line

·  find the azimuth from the other endpoint

·  sketch this azimuth showing the North line. 
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a) 240                                                                                                                              
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Finding the Angle between Two Azimuths 

It is easier to find the angle between two azimuths if they are measured from a common endpoint.

Example 1:       
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   To determine the measure of theta, simply subtract

   400 from 2100.  The measure of 
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 is 1700. The 

   process for arriving at this result is shown below.

Step 1:
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                                                It is easier to determine the angle between the two azimuths 

                                                if the diagram is sketched to represent the measurement of 

                                                both azimuths from a common endpoint.
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Step 2:

                                             Now subtract the angles:
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Example 2:  Determine the measure of 
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 in the following diagram:
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Solution 2:
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                                                                    same point

              1800 + 1500 = 3300                              2800 – 1800 = 1000                   


So:      
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Exercises:

1. For the azimuth of 3550:
· sketch the azimuth showing the North line

·  find the azimuth from the other endpoint

·  sketch this azimuth showing the North line. 

2. Find θ in the following diagram:              

                                                                                                    

Solutions:  

     

1.  

         3550 – 1800 = 1750

2. 850 + 1800 = 2650
             
                                                                             2650 – 300 = 2350
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